690 SMC 2008 <2008><US><9775H4>
EVAPORATIVE CANISTER
6549

WIRING HARNESS

&, CYLINDER HEAD

@
®
Pos Part Number Description Additional Text Quantity
1 75015001000 EVAPORATIVE CANISTER 07 1.00
2 61115016000 FITTING PIECE NQV2 NW7 90° 1.00
3 61115015000 VALVE FOR CARBON CANISTER 07 1.00
4 58007017000 YDNAC-clamp 10101 (10.4MM) 300 TPI Erzbergrodeo 2.00
5 58336020190 VACUUM CONECTION M6/3MM '97 SECONDARY AIR 1.00
SYSTEM
6 78015019000 HOSE EPA D=6/10 L=2000MM 0.00
7 78015021000 HOSE EPA D=4/8 L=2000MM 0.00
8 75015023000 REDUCTION CONNECTION GRS6-4 1.00
9 54603048100 clip nut M6 2.00
10 76515002000 RET.PLATE EVAPORATIVE CANISTER 1.00
11 0025060126 HH collar screw M6x12 TX30 2.00
12 59007439000 CLAMP RSGU 18/15 03 1.00
13 76515032000 RETAINING PLATE VALVE EC 1.00




14 59003001099 METAMOLL 90X45X3MM 03 1.00
15 45031005000 YDNAC-CLAMP FUEL HOSE (8MM) 1.00
16 0025050106 HH collar screw M5x10 TX30 1.00
17 57013070100 PVC-CLAMP 7,9 MM HEYCO 3355 1.00
18 0084040083 CYL.HEAD SCREW DIN0084-M 4X8 A 1.00




